P B XLk %

NO3-28-1

Mgan R ggrn

| &rrmyn) : FHER

Fuan o Tavis

M-}V

—  EFRATRN 974 10 A 1 B BERELHRARS1,200,000  fEEHHREBU\
4 JETRE 0 R 150% 56 RIREIRTIITE - 98 £ 4 A 2 HERATXR(T
$160,000 HEFTHEERAMBLIHIF BRI 4 BE 7 » (HARAEIT B ST B T A4
B - 4 10 A 1 DRSS SRR - BRERS40,000- 997 B 1H
NEIFMEERTHERE B B EEANRE NS EEEERERIE - (45
SRR ARSI AT 1E5$840,000 » AZRFTEES$760,000 + TEEFESH
A£5840,000 » TGRS HEEFARAIES -

A1 | |

LEHE 97 4ERE R, 98 (ERDIS ISR BRI B -
2069947 A | HERFIEHERIRS S 8505 E 99 A sSen i A -
3MEER 110 EEFA DTS RN E A EREE R HEE
EFIE & HEE CRRE SR AT BERSS$7000,000  AFHES
.$760,000 » TEEHEESTES SE3$20,000  {E 110 LEEAMEERKIBS HEH
8% . | (20% )

T SORATIR 95 £ 1 A 1 HLI$956,513 HUEAIIFAIEES1,363 EH S HAT
Fras TR A1  TEI%ES1,000,000 » ZFEFIR 5% » £H4F 12 A 31 B{FEHA
B BRFIERS 6% WESREEIINESREERE -

LENTR 96 E 1 B | HREESEEEE  HATEIREERE -
G FHE A A EA AR 6 55$700,000 - FEHATIBA ARG HA FTMUEIF 5.
$30,000 -

- 971 B 1 HEBATRRYWRSESETEERE FATSE
WY WHERERA T EE AT EEEAS - 10 1 8 1 BBLTH
BRI EA& £3$980,000 » ZTRATHE BB KAENFATESFEZIIHE -

SE  ABRATIEREHE 97 £ 12 B 31 HWFES 6 -

(20% )
* fF—IC EE Y K 5% 1 B4 FELHEIRIBMELT ¢
HERS 1 2 3 4 T B T
6% 0.943396 0.889996 0.839619  0.792094 P @ 7 oy
5% 0.952381 0.907229 0.863838  0.822702 % JEHE2E

= PRATIR 96 £ 7 A | BEALUKEA TR BRI TR 4,000 1
THEERERS20 » LIRS HMERE] ﬁﬁﬁiﬁ%?\—ﬁﬂ%ﬁwo 97 EE B
31 BEHE - AEFI£E$8,000 - THISHRER !

HE#A FAEHRETE PR EE
96/09/30 @ $24 $ 6,000
R 96/12/31 @ $23 $2,150
97/01/15 @.$23.5 $ 500

RAEAIEAT 96 E T A 1 HIRE » 9 A 30 HIREEHK 12 A 31 HIERFH
EFEY ek 97 1 B 15 HETRYS & o

(10% )



& B bk & 97 3 24 PEA R NO3-29-2

Ept(a)z) B FER AR . TREHE

7~ (15 %) .
FRAGRXESEIA L BALLRDEFEEFWEM  TURERSS ZRB B TESI0 02
A% 60,000 it » XAMBEXIOF 1 Al BHTE R4 E Z2EXI2E 12831 B4
ITIREP A - RARHSR B $BABR T2 » WAL Z TR AE B FAS25 o
X944A418 > B2axEFammizsy 4,000 B » 48 $iBKRERTESS » X10 £ 3
A 31 Bt# 24,000 A &Y 3R AR AR AT 3288 0§ A B ALK S40 -

BAE P PG X8 X9 R XI0FEHMBABMIT T ik -

HQ0%)
LAAA—AAMERBZNN  EHAGEARH  Fst X8 £ 10 AN 600 & 5« L4 5]
HRZELEHRMBLERMELERARG N XSES A1 BEITHEN0 A G428
o% H4A5514,000 X8 £ 10 A 31 8%E - FHAEGALBEEL

Er 10831 B3z asE®
X8/05/01 $14,000
X8/06/30 14,510
X8/09/30 15,340
X8/10/31 16,000
BRTIFAFHEL 6% -
ZRAMNI0 A3 BREYMKILEREE 516,000 FHHE 60055 a4 - A & A ik
B LA LS AMEMELRBEEMA BB N - @ &R
A (15 9) F2RR2R

Prepare the necessary journal entries to record the following transactions relating to the

long-term issuance of bonds of Wilson Co.:

March 1
Issued $800,000 face value Wilson Co. second mortgage, 8% bonds for $872,160, including

accrued interest. Interest is payable semiannually on December 1 and June 1 with the bonds

maturing 10 years from this past December 1. The bonds are callable at 102. 4 %)
June 1

Paid semiannual interest on Wilson Co. bonds. (Use straiéhf-line amortization of any
premium or discount.) 4 %)
December 1

Paid semiannual interest on Wilson Co. bonds and purchased $400,000 face value bonds at
the call price in accordance with the provisions of the bond indenture. T m)
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— ~ ABC Inc. produces four joint products having a manufacturing cost of § 80,000 at the

split-off point. The following data pertain to these products:

' Ultimate :
Units Processing Cost
Product Market Value . ) .
Produced . After Split-Off
Per Unit

K 5,000 $5.50 $ 1,500

L 20,000 1.60 3,000

M 15,000 1.50 2,500

N 10,000 3.00 5,000

Required:

Allocate joint products cost to K, L., M, N, using the market value method. ,
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=~ XYZ Company’s standard cost per unit of material M-88 is § 13.50 per pound. During

the month, 4,500 pounds of M-88 were purchased at a total cost of § 59,850. In

addition, 4,000 pounds of M-88 were used during the month; however, the standard

quantity allowed for actual production is 3,800 pounds.

Required:
Compute the Materials purchase price variance, Materials price usage variance, and
Materials quantity variance, indicating whether the variances are favorable or
unfavorable.
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= < ABC Company has the following standards and flexible-budget data.
Standard variable-overhead rate ...................... $6.00 per direct-labor hour
Standard quantity of direct labor ................. 2 hours per unit of output
Budgeted fixed overhead .............c...coolll $100,000
Budgeted output ... 25,000 units

Actual results for April are as follows:

Actual output ... ..o, 20,000 units

Actual variable overhead......................ool $320,000

Actual fixed overhead .............ocvvviiiiiininnt, .$97,000

Actual direct labor ..o 50,000 hours
Required:

Compute the following variances and indicate whether each variance is favorable or
unfavorable, where appropriate.

(1) Variable-overhead spending variance: (Smarks)

(2) Variable-overhead efficiency variance. (Smarks)

(3) Fixed-overhead budget variance. (Smarks)

(4) Fixed-overhead volume variance. (Smarks).

\TD ~ Culture Cdrﬁpany has two divisions. The Fabrication Division transfers partially
completed corhponents to the Assembly Division at ¢ predetermined transfer price.
The Fabrication Division’s standard variable product on cost per unit is $300. The
division has no excess capacity, and it could sell all ¢ f its components to outside

buyers at $380 per unit in a perfectly competitive market.

Required: ‘

(1) Determine a transfer price using the general rule. (1 Jmarks)

(2) How would the transfer price change if the Fabricat on Division had excess
capacity? (10marks)

2. ~ Explain why a manufacturer with diverse product lin:s may benefit from an ABC

system. (10marks) z—i = ,Eg :g?
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